RIIRZ 101 25 EA L3 4 2R K58

2% pEp SR #8 % 5 %
%‘%ﬂcaﬁﬂiz}%%a(&_#ﬁa)ﬁﬁ%ﬁ AXAE oXkfmE | 2]

NEHFI AR BHIR 5

1.

2.

BEABERAVE #EEH lime,,(2x+3) =7 (10%)

KTTIRBZHY (@) () =S+5+2;  (10%)

_ (x+1)3(2x+3)1/2
(b) &) = iy (10%)

ST EBYCOMRE x%y +xy? - 2x2 +y = 7 » Soky> sy

y (x)=? (10%)

CRTBIZABIRE © limeo(1+ 0% (10%)

 EFBEBR AR YL, i2 = MDED 60

6

ERIFELX) =pg*Lq=1-p0<p<lx =12 .. 3k

Yx=1X%f(x) =7 (10%)

Y IR (DR g (109)
. K [xPexp (2x)dx Z{H (10%)
SRR EEHE 2 [ E K B 200 BT - FE—HRERELE 120

BIL AR x BB REROREX? 28T > B A TS
TREE T AE PR AR (10%)




